IB Math Studies

Review Sheet for Chapter One:  Number and Algebra			

You should be able to do the following things on the test:

Classify numbers as real, irrational, rational, integer, prime, and/or natural.	Section 1.1

Express any decimal as a rational number in the form , where a and b are integers	Section 1.1
Arrange numbers in any form in increasing or decreasing order	Section 1.1
Round any answer to a requested number of significant figures	Section 1.2
Round any answer to a requested number of decimal places	Section 1.2
Find the percent error between an exact answer and an approximate answer	Section 1.2
Write any number in standard form		Section 1.3
Perform operations with numbers in standard form	Section 1.3
Perform operations involving metric units and conversions [i.e. m2  cm2]	Section 1.4
Perform operations involving time units and conversions [i.e. hours  seconds]	Section 1.4



From previous knowledge, you should also know how to:

Solve any linear equation for x
Use geometric formulas for perimeter, area, and volume
Use the formula d = rt [distance = rate x time]


For review, complete the problems on pages 34-37
and/or the problems that follow
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Show that: a 8 b —11 are rational numbers.

Why is # not a rational number?

True or false?

a N'CN b Ncz ¢« N =z+

e Qcz t {0ycz 3 7cQ
Show that the following are rational numbers:

a 08 b 075 © 045 d 0215
True or false?

a 127eN b HEeQ ¢ 31¢Q

z-cz
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6800000000 people
00011m < 000098 mn
d 140000 light years
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5 Write as an ordinary decimal number:
a The estimated population of the world in the year 2010 is 6.8 x 10° people.
b 80 gsm photocopy paper has a thickness of 1.1 x 10~ metres.
A small virus has greatest width of 9.8 x 10~ mm.
d The diameter of the Milky Way is 1.4 x 10 light years.
6 Express the following in scientific notation:
A dust particle is about 0.002 mm across.
‘The distance from the Earth to the Sun averages about 138000000000 m.

b
¢ The temperature of the sun is about 8.3 million degrees celsius.
d Each minute, about 3000000000 cells in the human body die.
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8 313 sheets
9 a i 504 i 59.40 b i 0.01 i 0.0084
10 a $508.75 b $14.54 perhour 11 $230.80
12 a -23m b 671%
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Use your calculator to answer the following: Sheets of paper are 3.2x 10~ m in
thickness. Find how many sheets are required to make a pile of paper 10 cm high.

a Round 59.397 to: i1 decimal place il 4 significant figures.
b Round 0.008 35 to: i 2 decimal places i 2 significant figures.

Paul works at the local supermarket and eams $13.75 per hour.
a How much does he eam in a 37 hour week?

b If he receives the same weekly wage but now works only a 35 hour week, what
will be his new hourly rate?

The cost for electricity is 14.36 cents/kwh for the first 400 kwh, then 10.05 cents/kwh
for the remainder. How much does 2125 kwh of power cost?

Jenny estimated the length of her front fence to be 32 m. When she measured it, its true
length was 34.3 m. Find, correct to one decimal place:

a  theerror b the absolute percentage error.
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6 Orange juice can be purchased in 2 L cartons or in 600 mL bottles. The 2 L cartons
cost S1.50 each and the 600 mL. botes cost S0.60 cach. A consumer purchases 73 L of
orange juice and his toalcost was $57. How many of each contsiner did the consumer
buy?
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4 Solve the following simultancous equations: a3z -2y=16 b 3zr-5y=11
y=22-10 Ari3y=>5

5 The volume of @ cylinder is given by the formula V' = xr%h,  where 1 s itsradis
and h is its height. Find the volume, in cm?, of a cylinder of height 23 cm and base
fadius 10 cm.
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6 32 0f 2 L cartons, 15 of 600 mL bottles
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7 small buses 23, large buses 34
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7 A bus company uses two different sized buses. If the company uses 7 small buses and
5 lage buses to wansport 331 peopl, but nds 4 small busesand  lrge buses tocamy
398 people, determine the mumber of peopl cach bus can carry.
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3 a (z-9)(x+2) b (22-7)(2z+7) ¢ 2(z—10)(z+3)
d (5z+2)(z+2)
4 a z=203 b o=4 ¢ v=-Zor3
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3 Factorise:
a 22-Tx—-18 b 4dz*-49 ¢ 22-14r-60 d 52°+12v+4

4 Solve for :
a 2246="51 b 2’ +16=8z ¢ 3?=2r+2
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3 a 100m® b 9991m® ¢ 0.09m’ d 0.090%
4 a 3254224 cm® b 3240cm® ¢ —14.224cm® d 0.437%
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3 Jon's lounge room s exactly 3 10.3 m by 0.7 m rectangle.
2 What is the foor area if he rounded cach length to
the nearest metre?

b What is the actual area of the floor?
€ What is Jon's rounding error for the floor's area?
d What sbolute percentage error was made?

om

97m

4 The cost of freight on a parcel is dependent on s volume. Justine lists the dimensions.
of a parcel as 24 cm by 15 cm by 9 cm on the consignment note. The actual dimensions

are 239 em x 148 cm x 9.2 em.
2 Calculate the actual volume.
b Calculate the volume given on the consignment note.
¢ Find the rounding error in the calculation.
d What absolute percentage error was made?
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